
Prüfungsaufgaben Aufgabe 130 
 
 

 
 

 
 

 
Kosinussatz im Dreieck ABC: 
 
AC² = AB² + BC² - 2 * AB * BC * cos 70° 
 
AC² = 9² + 5² - 2 * 9 * 5 * cos 70° 
 



AC² = 75,2 cm² |ⱱ 
 
AC = 8,7 cm 
 
Sinussatz: 
 
  BC          AC 
------ = --------- 
sin α      sin 70°   
 
Über Kreuz multipliziert: 
 
BC * sin 70° = AC * sin α | :AC 
 
            BC * sin 70°      5 cm * sin 70°    
sin α = --------------- = ----------------- = 0,54 --> α = 32,7° 
                   AC                   8,7 cm 
 
β = 180° - 20° - α = 180° - 20° - 32,7° = 127,3° 
 
Sinusssatz im Dreieck ACD: 
 
AC          AD   
------ = ------ | *sin α 
sin β      sin α   
 
          AC * sin α      8,7 cm * sin 32,7°  
AD = ------------- = ---------------------- = 5,9 cm 
             sin β                 sin 127,3°  
 
 
A = 0,5 * AD * AC * sin 20° = 0,5 * 5,9 cm * 8,7 cm * sin 20° 
 
A = 8,8 cm² 


